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(2943 A 31 H HI{E)
= H a2 B FS
— HFER
(—)  HARWME

1t
] 3,885.57 nf 1,829,502, 361 M

2 Ew
EES 4,120.80 nf 449, 810, 874 [
3 S 20, 797, 127 1
4 BB EMRFCH 3,271 9,934, 696 M
5 PR ERIE EIRFCH 800 /. 8, 555, 501 [
6 [XE BIRFLHEL 5,297 it 448 . 11, 797, 480 M
7 HL 4 H
8 RN E 0 M
9 BIYMEE 764, 001, 407 [
10 EEEIIAME 320, 000 [
11 fsFl FHAE 98, 700 1
12 &S 2,970, 500 1

(Z) EHME
1 BivEe 127,581,351 M
2 HfhFESs 0 M
3 RINA% 0 M
4 HTEkAh 1,978,928 [
5 T[4 909, 280 1
6 LA 0 M
T AR 6, 387, 583
& 7 3,234, 645, 792 [
= AflEHE

1 EEAak
(1) RHIE A& 0 M
(2) IBkAR 55 2 4 0 M
(3) RIARAL 2 0 M

2 JREVAME
(1) ELEE A4 0 M
(2) Kb 2,447,608 [
(3) Az 4 10, 354, 340 1]
(4)7E Y & 2, 140, 257 M
(5 =z 4 0 M
= G 14, 942, 205 1]




